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Grey Markov Prediction Model for City Industrial Water Quantity

SONG Qiao-na' , TANG De-shan®
(1. Business School of Hohai University, Nanjing 210098, China;
2. College of Water Conservancy and Hydropower Engineering , Hohai University, Nanjing 210098, China)
Abstract: GM(1,1) model is used for forecasting city industrial water quantity. This model is not suitable for forecasting data se-
quence in long term with randomness and great fluctuation. While Markov model is suitable to treat with problems with these charac-
teristics. Two models are combined together to form a new model, namely grey Markov model, in this paper. According to the spe-
cial state-division ways proposed in this paper, grey GM(1,1) model is used to forecast the data sequence firstly, then, Markov
model is used to optimize the results from the grey GM(1,1)model. So, the prediction result is much more precise. Finally, taking
the Fushun city as an example, the advantage of the grey Markov model is proved by the prediction result.
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